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In year X5, ABC Company had net income at $1,200,000, and had 270,000
shares outstanding from the beginning of the year, X5/1/1. Average market
price of ABC company’ stock is as follows:

Time period Average
price
X5/1/1 - X5/12/31 $40
X5/1/1 — X5/5/31 $45

ABC Company had the following dilutive securities outstanding at the
beginning of the year X5:

Dilutive Securities Description

Cumulative and convertible, $10 par per share, 150,000
share were issued at par. Every preferred stock could be

15% Preferred Stock convertible into one common shares. None of the preferred

stock was converted into common stock during the year
X5.

30,000 share warrants. Exercise price is $30 per share.
18,000 share warrants were exercised on X5/6/1. The
remaining 12,000 share warrants were still outstanding at
the end of the year X5.

Share warrant

Required:
Use the above information to compute ABC Company’s (1) Basic EPS (2)
Diluted EPS. (Round to the third decimal place.)
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